STE[RE 77

/

1) 35 =5
2) 48 12
3) 25 =5
4) 64 + 8
5) 77 =11
6) 54 =9
7) 81 =9
8) 36 =12
9) 88 =11
10)36 -6

1160 + 12 =
12)44 =11 =
13)20 =5 =
14)40 = 10 =
15)45 -9 =
16)24 -8 =
17)22 =11 =
18)10 =5 =
1914 =7 =
20054 =9 =

v carepoke &5



sTRFERE 77 B

/

1) 35 =5
2) 48 - 12
3) 25 =5
4) 64 + 8
5) 77 =11
6) 54 =9
7) 81 =9
8) 36 =12
9) 88 =11
10)36 —- 6

1160 =12 =5
12)44 =11 = 4
13)20 =5 =4
14)40 =10 = 4
15)45 -9 =5
16)24 =8 = 3
17)22 =11 = 2
18)10 =5 = 2
1914 =7 =2
20054 -9 =6

v carepoke &5



